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SECTION-A

i) General Awareness

The book “Jyotipunj” is written by
(A) Narendra Modi

(B) H.D. Deve Gowda

(C) Manmohan Singh

(D) None of the above

Singalila National Park is situated in
which of the following State ?

(A) Karnataka

(B) Tamil Nadu

(C) West Bengal

(D) None of the above

What is the capital of Kenya ?
(A) Kampala

(B) Nairobi

(C) Addis Ababa

(D) None of the above

Lakshadweep Coral Islands situated in

(A) Indian Ocean
(B) Pacific Ocean
(C) Bay of Bengal
(D) None of the above

Which of the following Act provides
Protection of Wild Animals, Birds and
Plants ?

(A) National Green Tribunal Act
(B) Wildlife Protection Act, 1972
(C) National Environment Appellate
Authority Act

None of the above

(D)

6.

10.

L

Who among the following personalities
given below also often known as Father
of Bangladesh ?

(A) Sheikh Mujibur Rahman

(B) Muhammad Mansur Al

(C) Sheikh Hasina

(D) None of the above

World Water Day is celebrated every
year on

(A) March 21

(B) March 22

(C) March 3¢

(D) None of the above

In India Ease of Living Index is released

by

(A) Ministry of Home Affairs

(B) Ministry of Housing and Urban
Affairs

(C) Ministry of Rural Development

(D) None of the above

The Battle of Waterloo was fought in

which country?

(A) France

(C) Belgium

Which noted journalist has won the
first Gauri Lankesh Memorial Award for
Journalism 7

(A) Arnab Goswami

(B) Barkha Dutt

(C) Ravish Kumar

(D) Rajdeep Sardesai

(B) Germany
(D) Britain

In which of the following place Haldia
port is situated ?

(A) Goa

(B) Guijarat

(C) West Bengal

(D) None of the above
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12.

13.

14.

15.

16.

Who is the present Governor of
Himachal Pradesh ?

(A) Kalraj Mishra

(B) Bandaru Dattatreya
(C) Acharya Devvrat
(D) None of the above

Which of the following Committee setup
by Central Government advised to stop
setting up new colleges from 2020 and
review the creation of new capacity
every two years after that ?

(A) Nandan Nilekani Committee

(B) Narayan Murthy Committee

(C) B.V.R. Mohan Reddy Committee
(D) None of the above

Who bagged the best actor award in
Film Fare Awards 2019 ?

(A) Ranbir Kapoor

(B) Vicky Kaushal

(C) Gajraj Rao

(D) None of the above

Mount Pinatubo (Volcano mountain) is
located in which of the following country ?
(A) Japan

(B) Philippines

(C) China

(D) None of the above

Who has been honoured with the 2019
Right Livelihood Award ?

(A) Greta Thunberg
(B) Christine Lagarde
(C) John Paul Jose
(D) Ridhima Pandey

10O 0 A T A

17,

18.

19.

20.

Which of the following State has got Gl
tag for its famous Kani shawis ?

(A) Odisha

(B) Rajasthan

(C) Madhya Pradesh

(D) None of the above

In which of the following city, country’s
first greenfield Industrial Smart City
was inaugurated by the Prime Minister
recently ?

(A) Mangaluru

(B) Aurangabad

(C) Chennai

(D) None of the above

Halophytes are

(A) Plants adopted to growing in saline
conditions

(B) Plants adopted to growing in high

temperature conditions

Plants adopted to growing in less

water conditions

None of the above

(©)

(D)

Consider the following statements about
Samudrayaan project.

1. The ‘Samudrayaan’ project
undertaken by the NIOT, Chennai,
is in line with the ISRO’s ambitious
‘Gaganyaan’ mission of sending an
astronaut to space by 2022.

2. The ‘Samudrayaan’ is a part of the
Ministry of Earth Sciences’ pilot
project for deep ocean mining for
rare minerals.

Choose the right option :

(A) Only the statement 1 is true

(B) Only the statement 2 is true

(C) Both statements 1 and 2 are true
(D) None of the above
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21.

22.

23.

i) General Intelligence and Reasoning Ability

Among A, B, C and D, B is heavier than
A and C but C is taller than him. D is
not as tall as C, while A is the shortest.
C is not as heavy as A. D is heavier
than B but shorter than him. Who is the
heaviest ?

(A) B
(B) A
(C) D
(D) C

How many 3's are immediately preceded
by 9 but not immediately followed by 5
in the following number series ?

934593593643933539539
375759395

(A) 4

(B) 3

C) 5

(D) 2

After the series, below it in the next line,
a number is given followed by (A), (B),
(C), (D) and (E). Complete the series
starting with the number given.

11 15 38 126

7 A B (€ @ (&)
Which number will come in place of (C) ?
(A) 102

(B) 30

(C) 2140

(D) 80

24,

25.

26.

In an examination, 42% students failed
in Hindi and 52% failed in English. If
17% failed in both the subjects, the
percentage of those who passed in both
the subjects is

(A) 23%
B) 27%
(C) 34%
(D) 40%

In a family of eight members, there are
two married couples and a widow. A, the
engineer, is married to a doctor. C, an
architect is the wife of D, E, a student
is the only child of C. G is the son of
H whose sister F, F is the niece of the
manager. B, a teacher, is the mother of
only A and D.

Who is the manager ?

(A) E

(B) D

(C) H

(D) A

Find the odd man out.
(A) January

(B) April

(C) July

(D) October
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i) WA ATt AT diiche qrEar

A B, C3RDH B CIRAT 9l &
g C3TE @ @ | D, C foraen wen 7€ @
Sefeh A a8 BT 2 | C, A foraam witt =
2 | D, B ® 9t € wg 394 ST ], g
T HA R ?

(A) B
(B) A
(C) D
(D) C

frafafaa s@en # fa 3 W@ & o
S TE 9 R WY Sk IR 5L R ?
934593593643933539539
375759395

(A) 4
B) 3
) 5
D) 2

STl F 916, FHd A9 Tl iRy | wah
€l g3 9= & 913 (A), (B), (C), (D) 3R
(E) ST © | &1 g% TCAT ¥ 3IRH T I

STEeT 1 ot R |
11 15 38 126
7 A B © O ©

HH-H} TEAT (C) o T I S ?
(A) 102

(B) 30

(C) 2140

(D) 80

24,

25,

26.

T R H, 42% feremeff fédt # sreivl gu
3R 52% ST § Aol g€ | A 17%
AT # rgevl gu, @ a1 fawi § 3efiol
B T faenfifat 1 wferera @

(A) 23%

(B) 27%

(C) 34%

(D) 40%

T 1S T & iR ¥ < faanfea et
3R uF fagar 2 | A, S SR B, 3
foare w fafereas & go71 2 | D i goht
C T IRHR & | E, C & Foheiial she T
i 1 G, HeE R SEdi e 2 F, F
Jeersh i Wefisit 2 | B U f¥ieres @ 3T hae
ASRD A AR | TGTH DA 7

(A) E

(8) D

(€) H

(D) A

o fim sifen |
(A) Sl
(B) 3«
(C) I
(D) 3FaFesH
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27.

28.

29.

-8-

IfP @ Qmeans P>Q
P+Qmeans P=>Q
P=QmeansP=Q
PQmeans P <Q
P+Qmeans P<Q

Statement: K@ C,NT,T=C

Conclusions : ) NC

hKeT

Then,

(A) Only conclusion [ follows

(B) Only conclusion Il follows

(C) Conclusions | and Il both follows

(D) Either | or Il follows

How many pairs of letters are there in
the word ‘CONTEMPORARY’ which
have as many letters between them in
the word as in the alphabets ?

(A) 0
(B) 4
C) 3
(D) More than 4

If the given interchanges are made in
signs and numbers, which one of the
four equations would be correct ?
Given interchanges : Signs '+ and —;
numbers 5 and 8.

(A) 82—-35+55=2

(B) 82-35+55=102

(C) 85-38+85=132

(D) 52-35+55=72

| 00000 O 0 O O

30.

31.

32.

33.

The sum of ages of a father and son is
45 years. Five years ago the product
of their ages was 4 times the father's
age at that time. The present age of the
father and son respectively are

(A) 25 years, 10 years
(B) 36 years, 9 years
(C) 39 years, 6 years
(D) none of these

Find the odd man out of the series
5,10, 17, 25.

(A) 5
(B) 10
) 17
(D) 25

Four Men A, B, C and D and four
women W, X, Y and Z are sitting round
a table facing each other. No two men
or women are sitting together. W is to
the right of B. Y is facing X and is to the
left of A. C is to the right of Z. Who are
the two persons sitting adjacentto D ?
(A) WandY

(B) Xand W

(C) XandZ

(D) Wand Z

In a row of girls, Chetna is 7" from the
right and Neelam is 15" from the left. If
both of them exchange their positions,
then Chetna becomes 20" from the
right. How many girls are there in the
row ?

(A) 26

(B) 21

(C) 35

(D) 34
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27,

28.

29,

P @ Q® AL P>Q
P«Q&HIAP>Q
P=Q#I3dP=0Q
PQ#HI3IIP<Q
P+Q& IATP<Q

FUT:K@C,NT, T=C

g )NC

Ke@T

l,

(A) Fae Fepd | STgEm AR |

(B) haet fshd || 1o & ¢ |

(€) frerd | 3R 11 ST STFE AT © |

(D) TTET | AT 1| STFET AT © |

7158 ‘CONTEMPORARY’ & 3781 & T8
foram gm & 9% g o 3aq & s B
v soten & € 7

(A) 0

(B) 4

(C) 38

(D) 4% A%

gfe feu o fafama, fagat ok g=et 4
# feu 9 =9 gt § 8 -
forsreT wt am 7

few e fafomm « g 4 ot =
& 5 IR 8.

(A) 82-35+55=2

(B) 82-35+55=102

(C) 85—-38+85=132

(D) 52—-35+55=72

30.

31.

32.

33.
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i s T F AT 4538 & | I
T qd I 3T A PG 36 qH fe
) g FT 47 | e R @ A FdHH
aﬂgm:%

(A) 259, 1098

(B) 3644, 9y

(C) 39aH, 694

(D) 7 @ HI$ e

S@el 5, 10, 17, 25 ° ® ga 91 o
Bife |
(A) 5
(B8) 10
©) 17
(D) 25

IR & A, B, C 3t D 3R =R Afeand
W, X, Y 3R Z T A9 & = 3R U&
a3 g Hh IS T | P QA GEW A
3t wfted e e T A4S | W, B H e R
Y g@ X AR MMI@AFAR I C, Z
FUB |IDHIAEARAA R AT ?

(A) WY
(B) X3 W
(C) X3MZ
(D) W3R Z

At i v ufFa 8§, I ed @ 7 8
i e &d | 15 of ® | Afe S 319
M 9E | aedt od! 8, @ Saa1 g8
éo?'q"fa’rm?h% | fefer o e et ereforat
(A) 26
(B) 21
(C) 35
(D) 34
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34.

35.

36.

37.
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When the time is 10:30, if the minute
hand points towards south, the hour
hand will point towards

(A) North-East
(B) North-West
(C) South-East
(D) South-West

Which one number can be placed at the
sign of ?

@ @ @ @ 6 (9
&) @) #2)

(A) S
(B) 6
(C) 8
(D) 9

In a certain language MADRAS is coded
as NBESBT, how BOMBAY is coded in
that language ?

(A) CPNCBX
(B) CPNCBZ
(C) CPDCBZ
(D) CQOCBZ

Which of the following words will come
at second position if all the words are
arranged alphabetically ?

(A) Prominent
(B) Prohibition
(C) Programme
(D) Protracted

000 0 000 0 0 OO A

38.

39.

40.

Select the correct alternative. If more
than five letters are missing then select
the last five letters of the series.

abc_ea_ __dd__bcc__
(A) bbbbb
(B) abbbb
(C) dcbbb
(D) none
Find the missing number in the
following.
6 3 v/
9 3 13
10 | 14 1
(A) 11
B) °
(©) 7
(D) 5

In a leap year, which month will have
the same calendar as that of January
in that year ?

(A) April
(B) July
(C) October
(D) March
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34.

35.

36.

37.

<11=

¥ T 10:30 ©, afe fime it g3 sfémr i
IARBATAG R
(A) SWH-qd

(B) Iw-uf=H

(C) feur-gd

(D) =faor-ufvem

2 % g W AR-oft gem et et ® ¢

) @) (19 () 6) (9
© (37) (2
(3 (@ ()

(A) 5 :

(B) 6

(C) 8
D) 9

T FZ AT § MADRAS & NBESBT
fora stren 2, 36t F2 9T § BOMBAY
%! Y forar s ?

(A). CPNCBX

(B) CPNCBZ

(C) CPDCBZ

(D) CQOCBZ

FUIHTEAT o STTHR FFTEIT T T HH-HT
o8 TEX T 9 AT ?

(A) Prominent

(B) Pronhibition

(C) Programme

(D) Protracted

38.

39.

40.
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Tl fasew gitu | 3fd ofe @ S@T S1an

G & dl @A & A" 979 &/ FHAT |
abc__ea_ __dd__bcc__
(A) bbbbb
(B) abbbb
(C) dcbbb
(D) IS &l
fafafed & & g we 3@ # |
6 8 ?
9 3 13
10 | 14 1
(A) 11
(B) 9
C) 7
(D) 5

ot i, 3 s o s e At
forg TR 1 B ?

(A) 3B

(B) e

(C) I

(D) =
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iii) Arithmetical and Numerical Ability

The area of a triangle whose sides
measure 14 cm, 48 cm and 50 cm is

(A) 672 cm?
(B) 336 cm?
(C) 350 cm?
(D) 700 cm?

If the product of two numbers is 216 and
their LCM is 36, their HCF is

(A) 8 B) 7
(C) 6 (D) o
If 2x—2%-1 =4 then 3*=
(A) 7 (B) 3
(C) 27 (D) 9

A bag contains Rs. 187 in the form of
1 rupee, 50 paise and 10 paise coins in
the ratio 3 : 4 : 5. The number of coins
of each type are respectively

(A) 102,136, 170
(B) 136, 102, 170
(C) 170,102, 136
(D) none of these

Thrice a number is 24 more than
one-third of it. The number is

(A) 8 (B) 9
(C) 12 (D) 15

The angle covered by the minutes hand
in 12 minutes is

(A) 60°
(C) 72°

(B) 108°
(D) 100°

47.

48.

49.

50.

51.

The wheel of a motor car makes
800 revolutions in covering 880 m. The
diameter of the wheel is

(A) 0.35m

(B) 0.175m

(C) 0.70m

(D) none of these

The point of intersection of the lines
2x—-5y=6andx+y=3is

(A) (0,3)

(B) (3,0)

(C) 3,3

(D) (0,0)

The value of

ﬁ a+b it_ti b+c ﬁ c+a:
xb x© X2

(A) O

(B) 1

(C) abc
(D) a*b*c?

The 3 numbers in Arithmetic Progression
(AP) whose sum is 18 and product is
210 are

(A) 5,6,7
(C) 3,4,5

(B) 4,5,6
(D) 2,4,6

If tan® + secB = a and seco —tan6 = b
then the relationship betweenaand b is

a_.
(A) ©=1
(B) ab =1

(C) a+b2=1
(D) a?-b2=1
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41.

42.

43.

44,

45.

46.
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34 favs &1 S foresht ypeneti i o
149 5., 48 9.1, iR 50 .1 2

(A) 672 .H.2

(B) 336 H.4t.2

(C) 350 H.1ft.2

(D) 700§ .Ht.2

e 3 TS T UAES 216 ST ITHT
EY 36 &, Tl 3T HEY B

(A) 8 (B) 7

(C) 6 (D) 9

I 2 -2 =4 A F =

(A) 7 (B) 3

(C) 27 D) 9

wF At o 1 79T, 50 A7 2R 10 ¥ % =i

FEIHE. 187 F: 3:4: 5% U@ A
2 | I YR % Tt it v A
(A) 102,136, 170
(B) 136,102, 170
(C) 170,102, 136

(D) 38 @ IS T

T HEAT 1 A1 O 39k T foeTs @
24 ATt B | & R

(A) 8 (B) 9

©) 12 (D) 15

12 e | fie it g3 g0 7 fen w1
T IV B

(A) 60°
(C) 72°

(B) 108°
(D) 100°

47.

48.

49,

50.

51.
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880 Hi. G HH H U WIT FN F Ufeu
800 HUH R Fd & | Ife 1 =8 2

(A) 0.351t.

(B) 0.175Hi.

(C) 0.70Hl.

(D) 37H B =g e

@RIt 2x — 5y = 6 AW x + y = 3 &I
wheaea fog &

(A) (0,3)

(B) (3,0)

(€) (3,3)

(D) (0,0)

a a+b b b+c ¢ \C+a
x x X | wuE?
X x° x2

(A) 0
(B) 1

(C) abc
(D) a?bc?

guiat Soft § 3 gEAnd fe I 18 @R

%A 210 &
(A) 5,86,7
(C) 3,4,5

(B) 4,5,6
(D) 2,4,6

Ife tand + seco = a 31T secH —tand =b
dadRbF faday s

a
A =1
(B) ab=1
(C) a?+b?=1
(D) a?-b?=1
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52.

53.

54,

55.

56.

Simple interest on Rs. 2,000 for
5 months at 16% per annum is

(A) Rs.133.33
(B) Rs.133.26
(C) Rs. 134.00
(D) Rs. 132.09

If the point (k, 3) is at a distance of J5
units from the point (2, k), the value of
kis

(A) 1

(B) 4

(C) 1and 4

(D) none of these

If the second term of an AP is 4 and
10" term is 20, then the 15" term is

(A) 28
(B) 32
(C) 30
(D) none of these

3=
(A) 612
(B) 216
(C) 218
(D) 126
A cuboid has its length, breadth

and height as 5 cm, 3cm and 2 cm
respectively. Its volume in cubic cm is

(A) 27 (B) 30
(C) 33 (D) 36

10 0 O OO A

57.

58.

59.

60.

The smallest number which when
divided by 16, 20 and 40 leaves the
same remainder 4 is

(A) 124
(B) 84
(C) 164
(D) 80

fA:B=2:5then
(10A + 3B) : (5A + 2B) =

(A) 4:7
B) 7:4
(C) 8:7
D) 7:3

The ages of two persons are in ratio
5 : 7. 18 years ago their ages were in
the ratio 8 : 13, their present ages (in
years) are

(A) 50,70
(B) 70, 50
(C) 40, 56
(D) 35,49

A man sells 6 radios and 4 televisions for
Rs. 18,499. If 14 radios and 2 televisions
are sold for the same amount, the price
of a television is

(A) Rs. 1,848
(B) Rs. 840
(C) Rs. 1,680
(D) Rs. 3,360
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%. 2,000 T 5 HIE T 16% Jfa a8 & a1
Y GIYgwul A @ '

(A) ¥.133.33

(B) %.133.26

(C) %.134.00

(D) %.132.09

R g (k, 3), Fig (2, & V6 HEER,
AKFHA R

(A) 1

(B) 4

(C) 134

(D) FH & 15 &I

afe U T A0l H WA TR 4T
109798207, A 15aT 98 3
(A) 28

(B) 32
(C) 30

(D) H | Ig TE
28-3=
(A) 612
(B) 216
(C) 218

(D) 126

I g ) FerE, ISR 3 SEE 5
g1, 38, sl d. . waw: R 1 3EE

A T g, 7 2
(A) 27 (B) 30
(C) 33 (D) 36

57.

58.

59.

60.
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I8 DI 8 B g1 S 16, 20 3 40T
W17 fou 919 9 g 9y 4 3t R

(A) 124
(B) 84
(C) 164
(D) 80

gfeA:B=2:5d
(10A + 3B) : (5A + 2B) =
(A) 4:7

B) 7:4

(C) 8:7

(D) 7:3

& SafeRt it g F I 5 7 ' |
189 qd 31 311g 8 : 13 % T | o,
FaqH Y § (i A)

(A) 50,70

(B) 70,50

(C) 40,56

(D) 35,49

s = 6 e o 4 fafasm

%. 18,480 H sr=raT ® | AT 14 e 3
2 Sferfeer oft geft e | o= 9 g, At
T fAfasm 1 e ©

(A) %. 1,848

(B) ®. 840

(C) %.1,680

(D) %. 3,360
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61.

62.

63.

64.
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iv) Hindi Language and Comprehension

= W

Fou= FAdeare, e
FE ¢ |

(A) weH
(B) =
(C) Trarfeatas
(D) 398 & g &

oy i sd Fsaaan way
B2 1T FEA

(A) T
(B) H1g
(C) &=
(D) 38 & Fig e

‘STt O YedT & 9 R e @
Gt @ ?

(A) Fqard

(B) FHaTA

(C) HrEgar=q

(D) 378 A HIs 7

‘ST 73 foraa 2 | 58 9 #l wiasd
T 8 Fafert |

(A) =TeTsh 9 feram |

(B) =TeTeh 4 A foran |

(C) s T @ @R |

(D) 38 & I3 e
‘qrToT <1 G I15E B

(A) I (B) T
(C) U= (D) ST

67.

68.

69.

70.

iRy
66.

o wsat & g @ 7€ B R, 3%
FEd® |

(A) A

(B) ARG

(C) %@

(D) ¥ & i T

el HEF T faufa veag
(A) = (B) ®
() A (D) ®

38 B HAGT I1se IRETT I fasor
ISR R ?

(A) Tl ST

(B) ¥ TS

(C) AW

(D) SR @t

3T % frdt W B 8 ?
(A) |

(B) 9

©)

(D) 394 & I3 A&

Icaf & SR IT a1 1 Fffertor fehaa
THER B 7
(A) =
(B) =X
(C) [
(D) @
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FqaTed sl FHHaT | T -
“mYe g gt @ 1

(A) HIes EHT T It et 2 |
(B) HIEH I T&iH Te1 =R |
(C) HIed @ gk Ug1 e <Irar |
(D) T & ¥ T

forem &1 doam e 2
(A) TR
(B) wsigt
(C) =ISTA

(D) 3 @ #Ig e

JUIT & TYR T EfY & fhad e Ba & ?
(A) =

(B) =1

(C) &

(D) 3 & I3 A&

fFasrs o 4 FT o Ea e ?
(A) Tl FH

(B) 3firemur e

(C) FH wNH

(D) =0T FRF

e o TR 1 s998R YT
BT R |

(A) &
(B) o=
(C) ¥R

(D) 38 & FI5 7

76.

17.

78.

79.

80.
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<t S1saT, SR 41 ST SRl U Sire
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FEAE |

(A) TY=aT SeF T

(B) fawrnfe g rema

(C) Ty Huh 7eqY

(D) 34 & s &l

HEAq: I & foha 95 2 7

(A) &

B8) =

(C) =r

(D) FHAFE T

Y 9158 HEhd 37 g W1 A faghd Bl
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(A) deHd (B) dc@H

(C) v (D) Tzt
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(A) T E
(B) Ffaaf
(C) Fv &ty
(D) e |fy

‘T P AT T I R 7
(A) 3l B

(B) sh

(C) T

(D) 3 | F1S e
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Fill in the blanks with appropriate prepositions
from among the choices given below.

81. [I'll meet you the airport.
(A) on (B) in
(C) off (D) at
82. He was the first the boys to
win a prize.
(A) between
(B) among
(C) across
(D) through
83. A small pouch was sewn his
jacket.
(A) into (B) onto
(C) to (D) with

In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

84. The minister came with his escort.
(A) friend
(B) bodyguard
(C) family
(D) courtiers

85. The soldiers plundered the beautiful
country.

(A) Appreciate
(B) Admired
(C) Looted
(D) Visited

-18-

86. The essay calls for a great deal of
introspection.
(A) Criticism
(B) Appreciation
(C) Admiration
(D) Self-examination

Choose one word substitute for the following
from among the choices given below.

87. Assuring that something will definitely
be done

(A) Decision
(B) Seize

(C) Obsession
(D) Promise

88. Examination of one’s own thoughts
(A) Retrospection
(B) Inspiration
(C) Destination
(D) Introspection

Choose the wrongly spelt word from the
following choices.

89. (A) CONTRIBUTION
(B) GENEROSITY
(C) PARANOIA
(D) TRASITARY

90. (A) INTRICATE
(B) CONSEQUENSE
(C) AILMENT
(D) HAZARDOUS



Fill in the blanks with suitable articles from
among the choices given below.

91. Wehad lunch at
restaurant.

(A) a
(B) the
(C) an
(D) none of these

newly opened

92. Can| get
(A) the
(B) an
(C) a
(D) on

seat on the bus ?

93. ox is required to till this field.
(A) A
(B) An
(C) The
(D) none of these

Add suitable question tag to the following
statements from among the choices given
below.

94. You would scarcely expect a holiday,
?
(A) wouldn’t you
(B) will you
(C) would you
(D) haven't you

95. Rima cares for the elderly, ?
(A) isn’tit
(B) does she
(C) will she
(D) doesn’t she

«19-
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Fill in the blanks in the following sentences
using the appropriate antonyms of the words
underlined.

96. Though he has a secure job, he feels
at times.

(A) insecure
(C) securely

(B) unsecure
(D) imsecure

97. The arrival and timings of the
train was mentioned on the notice
board.

(A) Entry

(B) Reaching
(C) Departure
(D) None of these

98. Virtue is the opposite of
(A) Chastity
(B) Merit
(C) Morality
(D) Vice

Fill in the blanks in the following sentences
using the appropriate forms of the words
given in brackets from among the choices
given below them.

99. She was asked to write a job
(apply)
(A) applicable
(B) apply
(C) application
(D) applicant

100. (expect) is always better than

fulfillment.

(A) Expectation
(B) Expectability
(C) Expectant
(D) Expect
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101.

102.

103.

104,
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SECTION-B

10 DO 00 It

Post Specific Subject — Related Questions

The graphic record of electrical
fluctuations during cardiac cycle is
called

(A) Electrocardiogram

(B) Electroencephalogram

(C) Defibrillation threshold testing
(D) None of the above

In electrocardiographic recording paper
large squares mm square.

(A) 1
(B) 5
(C) 2
(D) 9

The lead is derived from the placement
of the negative electrode on the right
arm and positive electrode on the left
arm is known as

(A) Standard lead |
(B) Standard lead Il
(C) Standard lead Il
(D) Standard lead IV

is placed over the fourth
intercostal space immediately to the left
of the sternum.

(A) Lead V1
(C) Lead V3

(B) Lead V2
(D) Lead V4

105.

106.

107.

108.

109.

The complete atrial activation takes

ms.

(A) 90x12 (B) 97+12

(C) 99+10 (D) 99+12

The initiates the activation of
the atrium.

(A) Atrioventricular node
(B) Atrioventricular bundie
(C) Sinoatrial node

(D) Purkinje fibres

One small square on an Electrocardiographic
paper is equivalent to how much time ?

(A) 0.04 sec
(B) 0.20 sec
(C) 04 sec
(D) .01sec

One large square on an
Electrocardiographic paper is
equivalent to how much time ?
(A) 2sec

(B) 20 sec

(C) 0.02 sec

(D) 0.20 sec

Depolarization in the atria is registered

as the wave.
(A) P B) Q
(C) R (D) PR
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U Affes Rea-gasft uga

T&T 95 o S faIgd SaR-9gTa 1 AThi
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(A) SerEIRTISAIH

(B) TR

(C) fewmfoetem gemes wiaor

(D) 3 H | g T

TR SANh AHAET HIE H 5
a1 firft i H A 2 |

(A) 1
(B) 5
(©) 2
(D) 9

eI ENIDERAIUE IS G REEEIREER
T ht ST TS T TG G~
AT FEA @ |

(A) =T I |

(B) W& 37U Il

(C) W= 3 il

(D) W AT IV

1 B F i ot =g
aforl & ste & T T @Sl |
(A) 37ET V1

(B) 3Audr V2

(C) 3EIV3 (D) 37T Va4

108.

106.

107.

108.

109.
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qut aTfere wfseaan |

ms
A © |
(A) 90+12 (B) 97+12
(C) 99+10 (D) 99+12
anfere <t wfsraran oy
FA 2 |
(A) 3nfeae fem afy
(B) omfere fiem =8
(C) Rirafgzre fr
(D) ufershi @
T TARIHITSANIIheh FHITS T T BT
1l fre T S EE BT @ 7
(A) 0.04 8Hs
(B) 0.20 s
(C) 04TFS
(D) .01 &S
SAFIHI SIS HITS T U gl
foram owg & U= R ?
(A) 28%FE
(B) 20 €&g
(C) 0.02¥FS
(D) 0.20 ¥FE
anfere ® faygaftetor &t T
& ®Y9 1 Usiigpa foran ST |
(A) P (B) Q
€) R (D) PR
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113.

114.

115.
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Atrioventricular conduction time is

called as interval.
(A) P (B) PR
(C) R (D) Q

Ventricular complex usually comprises of
(A) P,Qand R wave
(B) P,Rand T wave
(C) Q,RandS wave
(D) R,Sand T wave

The wave expresses
repolarization of the heart muscle.

(A) P B T
©) Q D) S

interval represents the total
duration of the electric ventricular
systole.
(A) QT
(C) ST

(B) RT
(D) SR

Cardiac output is expressed in
(A) Stroke volume

(B) Minute volume

(C) Cardiac Index

(D) All of the above

In human being the duration of cardiac
cycle is

(A) 0.008 sec

(B) 0.5sec

(C) 0.8sec

(D) 8sec

0000 O O OO 0

116.

117.

118.

119.

120.

Minimum volume of blood left in the
ventricles at the end of the ejection
period is

(A) 60-80mL

(B) 50-60mL

(C) 80-100 mL

(D) 100 - 120 mL

Ventricular volume curve recorded
by using Henderson cardiometer has

Segments.
(A) 6 B) 7
(C) 8 (D) 9
Lead is placed at the same

horizontal level as lead V4 but on the
anterior axillary line.

(A) V5
(B) V3
(C) V6
(D) V4

Electrocardiogram (ECG) was first
developed by

(A) Steward

(B) Wilhelm His

(C) Einthoven Willem
(D) Hubert Mann

First heart sound coincides with peak

of wave in ECG.
(A) Q (B) R
(C) S D) T
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FEATTES |

(A) P (B) PR

(C) R (D) Q

et g o T
TIA R |

(A) P,Q3R R
(B) P, R3R Tawm
(C) Q,RaR ST
(D) R, SR Taw

0T gt Aigufsren &

QAT Rl AR el § |
(A) P |®) T
(€) Q (D) S

Ha faega Fremht et
e I A Tafdy guiiet R |
(A) QT (B) RT
(C) ST (D) SR
gedtsmas  H afverea
TR |
(A) TET STRCH
(B) =
(C) &4 gaHI®
(D) I axft
W § §e9 ¥ 1 499 8
(A) 0.008 G&Hs
(B) 0.58%s
(C) 0.8 AeHg
(D) 8WwHs

116.

117.

118.

119.

120.
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ST AT o 37 | e | o= &
S RELEC G S

(A) 60—80mL

(B) 50—60 mL

(C) 80— 100 mL
(D) 100 - 120 mL

ST TS o1 g aes e
ot s s A G
A E |
(A) 6 B) 7
©) 8 D 9
JUAT _ ohl 3qaT V4 Tl &
&t TR R v s 8, Wi el wee
W |
(A) V5
(B) V3
(C) Ve
(D) V4
SIS (3Eish) veeh ar
g0 faerfEa fomam |
(A) feard
(B) foeem few
(C) 3 faem
(D) TR W
Teetgeg @ gEsid e
RAAF AT AR |
(A) Q (B) R
(C) S (D) T
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121.

122.

128.

124.

125.

126.

wave is also called as atrial
complex.
(A) Q (B) R
(C) S (D) P
Appearance of inECG

indicates hypercalcemia, hypokalemia,
thyrotoxicosis.

(A) Uwave
(B) ST segment elevation
(C) Tall peaked T waves

(D) Increased amplitude and widening
of the QRS complex

interval signifies the

- atrial depolarization and conduction of

impulses through AV node.
(A) PR (B) QT
(C) RS (D) RT

An ECG report should contain
(A) Rhythm

(B) P-wave

(C) P-Rinterval

(D) All of the above

Increased in the heart rate is called as
(A) Bradycardia
(B) Tachycardia
(C) Tachypnoea
(D) Tachyphonia

Heart sounds are produced by

(A) Flow of blood through cardiac
chambers

Contraction of cardiac muscle
Closure of valves of the heart
All of the above

(B)
(©)
(D)

DO 00U OO

127.

128.

129.

130.

131.

132.

Decrease in the heart rate is called as
(A) Bradycardia
(B) Tachycardia
(C) Tachypnoea
(D) Tachyphonia

Normal Heart rate is
(A) 72 beats /min
(B) 82 beats /min
(C) 32 beats /min
(D) 62 beats /min

Cardiac output is maintained by
(A) Venous return
(B) Force of contraction

(C) Heart rate and peripheral
resistance

(D) Ali of the above

First heart sound is known as
(A) LUBB

(B) DUBB

(C) LUBBDUBB

(D) None of the above

The rate and rhythm of the heart are
controlled by

(A) SA node
(B) AV node
(C) Bundle of his
(D) Purkinje fibres

is a vital organ pumping
blood to the entire body.
(A) Liver
(B) Heart
(C) Kidney
(D) Brain
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133.

134.

135.

136.

137.
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Number of vibrations in phonocardiogram
of second heart sound

(A) 4-6
(B) 1-4
) 1=2
(D) 9-13

Apex of the heart is felt at
(A) 8 cm lateral to midclavicular line in
left 5" intercostal space
9 cm lateral to midclavicular line in
left 5" intercostal space
9 cm lateral to midclavicular line in
left 6" intercostal space

(B)
(C)

9 cm lateral to midclavicular line in
right 5™ intercostal space

(D)

Uses of ECG helps in diagnosis of
(A) Cardiac arrhythmias

(B) Conduction defects

(C) Myocardial hypertrophy

(D) Al of the above

In ECG paper, Light line circumscribe
squares.

(A) Small

(B) Large

(C) Medium

(D) None of the above

Speed of the ECG paper is
mm/sec.

(A) S
(B) 10
(C) 25
(D) 15

0 )00 YO0 RO

138.

139.

140.

141.

142.

In ECG paper horizontal axis
measures

(A) Time

(B) Voltage

(C) Waves

(D) None of the above

In ECG paper, vertical axis measures
(A) Waves

(B) Voltage

(C) Time

(D) None of the above

Deflection of the record above the
baseline regarded as

(A) Negative deflection
(B) Intermediate deflection
(C) Isoelectric segment
(D) Positive deflection

In depolarization process towards a
positive electrode gives an
deflection.

(A) Upward

(B) Downward

(C) Biphasic wave
(D) None of the above

In ECG paper, no deflection from the
baseline means

(A) Positive deflection
(B) Negative deflection
(C) Isoelectric segment
(D) All of the above
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In repolarization process, a wave moving
towards positive electrode inscribes
deflection on the ECG.

(A) Positive

(B) Negative

(C) Biphasic wave
(D) None of the above

Waves associated with ECG are
(A) P

B) Q

(C) R

(D) All of the above

Interval comprises
(A) Straight line connecting two
waves

(B)

Atleast one wave plus the
connecting straight line

(©)
D)

Only straight line
None of the above

is the first wave of the

ECG.
(A) Q
(B) R
€) P
D) S

Duration of the P wave is
(A) 0.04 sec

(B) 0.12 sec

(C) 0.08to 1sec

(D) Less than 0.04 sec

00O OO0 O

148.

149,

150.

151.

182.

Following the ‘P’ wave, there is a brief
iso-electric period called

(A) QRS complex
(B) P-R segment
(C) RS complex

(D) S-T segment

Beginning of wave
represents invasion of mid-portion of
the interventicular septum by excitation
process.
(A) P
(B) Q
(C) R
(D) S

wave is the prominent, first
positive wave of the complex, if there is
a second upward deflection.
(A) P
(B) S
(C) R
(D) Q

waves height is directly
proportional to the functional activity
of the ventricles and does not exceed
25 mm in any leads.
(A) S
B) T
(C) R
(D) P
Duration of the S-T segment is

(A) 0.04 to 0.08 sec
(B) 0.12 sec

(C) 0.08to 1 sec

(D) Less than 0.04 sec
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represents polarized state
of whole heart.

(A) TP segment
(B) PR interval
(C) ST interval
(D) R-S junction

Time taken by an impulse to travel from
endocardium to epicardium is

(A) PR interval
(B) QT interval
(C) Ventricular activation time
(D) TP segment

number of leads are
present in electrocardiograph.

(A) 1 B) 2
(C) 12 (D) 15
Frontal plane leads (limbs) are
in number.

(A) 12 (B) 10
(C) 08 (D) 06

Limb leads view the heart in a vertical
plane called

(A) Horizontal plane
(B) Frontal plane

(C) Lateral plane

(D) None of the above

Frontal plane leads include

(A) Bipolar standard limb leads

(B) Unipolar augmented limb leads
(C) Both (A) and (B)

(D) None of the above

| 0000 O 00O O

159.

160.

161.

162.

163.

164.

Bipolar leads consists of
(A) Lead |

(B) Leadll

(C) Lead lll

(D) All of the above

The wave is small and
usually positive in the left lateral and
inferior leads.
(A) P
(C) R

B) Q
@) S

Bipolar limb leads are also known as
(A) Standard limb leads

(B) Augmented limb lead

(C) Augmented voltage leads

(D) None of the above

ECG lead has

(A) Positive

(B) Negative

(C) Both (A) and (B)
(D) None of the above

pole.

Electrodes at distance greater than
cm from the heart may be
considered equidistant.

(A) 15
(B) 10
(C) 8
(D) 7

The normal mean frontal QRS axis of
the heart lies between

(A) —10° and —20°

(B) —1° and -5°

(C) —-30° and +100°
(D) None of the above
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165.

166.

167.

168.

168.

is the normal cardiac rhythm
in which the SA node discharges 600-100
times per minute.

(A) Sinus rhythm
(B) Atrial tachycardia
(C) Atrial flutter
(D) Sinus tachycardia

Leads V5 and V6 are referred as
(A) Anterior leads

(B) Left lateral leads

(C) Inferior leads

(D) Cavity leads

and leads are lie
directly over the right ventricle.

(A) V3and V4
(B) V5and V6
(C) V1andV2
(D) V3and V5

Lead axes of the three standard limb
leads form an equilateral triangle with
the heart as a current source at the
centre called

(A) Einthoven’s triangle
(B) Acute angle

(C) Obtuse angle

(D) Scalene triangle

is the middle space left
in the thoracic cavity in between the
lungs.

(A) Sternum
(B) Mediastinum
(C) Diaphragm
(D) Trachea

00 O OOt

170.

107

172.

173.

174.

175.

Boundaries of mediastinum includes
(A) Sternum

(B) Diaphragm

(C) Mediastinal pleura

(D) All of the above

The area in front of the pericardium is
called

(A) Anterior mediastinum
(B) Posterior mediastinum
(C) Middle mediastinum
(D) None of the above

The area behind the pericardium is
called

(A) Anterior mediastinum
(B) Posterior mediastinum
(C) Middle mediastinum
(D) None of the above

Anterior mediastinum is avery
space in front of the pericardium.

(A) Long (B) Wide
(C) Narrow (D) None of these

Middle mediastinum is occupied by the
pericardium and its content, along with
nerve.

Phrenic

Vagus

Cardiac

Left recurrent laryngeal

(A)
(B)
(C)
(D)

encloses the heart.

(A)
(B)
(&)
(D)

Pleura
Pericardium
Sternum
Diaphragm
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176.

177.

178.

179,

180.

181.

Duration (sec) of the first heart sound is
(A) 0.10100.17
(B) 0.10t0 0.14
(C) 0.07t00.10
(D) 0.021to0 0.04

Heart beat is felt or seen against
(A) Chest wall

(B) Abdominal wall

(C) Neck

(D) None of the above

Pericardium is situated in
(A) Anterior mediastinum
(B) Posterior mediastinum
(C) Middle mediastinum
(D) Inferior mediastinum

Serous pericardium is thin,
layered serous membrane lined by
mesothelium.

(A) Single
(B) Double
(C) Triple
(D) None of the above

cavity is a potential space
between the parietal and visceral
pericardium.

(A) Thoracic
(B) Abdominal
(C) Cranial

(D) Pericardial

The sinus is a narrow gap
behind the heart.

(A) Transverse
(B) Oblique
(C) Frontal
(D) Maxillary

A0 0 0 0 D 0 O

182.

183.

184.

185.

186.

187.

188.

Contents of the pericardium

(A) Heart with cardiac vessels and
nerves

Ascending aorta
Pulmonary trunk
All of the above

(B)
(©)
(D)

is the conical hollow
muscular organ situated in the middle
mediastinum.

(A) Heart
(B) Lungs
(C) Stomach
(D) Brain

Heart measures about
(A) 9x8cm

(B) 10x6cm

(C) 12x9cm

(D) 14x10cm

Male heart weighs about
(A) 250 grams (B) 300 grams
(C) 350 grams (D) 400 grams

Female heart weighs about
(A) 250 grams  (B) 300 grams
(C) 350grams (D) 400 grams

Human heart has chambers.
(A) 1 B) 2
(C) 3 (D) 4

Apex of the heart is formed entirely by
the

(A) Right ventricle
(B) Letft ventricle
(C) Right atria
(D) Left atria
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of the heart is directed downwards,
forwards and to the left and is overlapped
by the anterior border of the left lung.
(A) Apex (B) Base

(C) Posterior (D) Middle

Base of the heart is also called its
surface.

(A) Anterior (B) Superior

(C) Posterior (D) Inferior

border of the heart is slightly
oblique and is formed by two atria,
chiefly the left atrium.

(A) Right (B) Left
(C) Inferior (D) Upper
There are main types of
circulations.
(A) 2 (B) 3
C) 4 (D) 5
is the right upper chamber of
the heart.

(A) Left atrium
(B) Right atrium
(C) Right ventricle
(D) Left ventricle

is a triangular chamber
which receives blood from right
atrium.

(A) Right ventricle
(B) Left ventricle
(C) Left atrium
(D) Lungs

00O A

195.

196.

197.

198.

200.

199.

receives oxygenated blood
from the left atrium and pumps it into
the aorta.

(A) Right atrium
(B) Right ventricle
(C) Left ventricle
(D) Pulmonary vein

Heart consist of

(A) Skeletal muscle
(B) Cardiac muscle
(C) Smooth muscle
(D) None of the above

Heart is supplied by ___ coronary
arteries.

(A) 1 B 2

(C) 3 (D) 4

Right coronary artery is the
left coronary artery.
(A) Smallerthan (B) Larger than

(C) Equalto (D) Wider than

refers to an increase in muscle
mass.

(A) Atrophy
(C) Hypotrophy

(B) Hypertrophy
(D) Dystrophy

The six precordial leads of Wilson
in which is positioned
on 4" intercostal space to right of
sternum.

(A) V1
(C) V3

(B) V2
(D) V4
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14. Directions : Each question or incomplete

18,

17.

18.

19.

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00

Wrong Method

0800

Wrong Method

0®@0O0

Correct Method

o) JoXe)

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rcugh work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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IMPORTANT INSTRUCTIONS TO CANDIDATES
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13. This booklet contains 40 pages.
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15.
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18.

19.
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